Montazni navod

(Montéazny navod, Fitting instruction, Montageanleitumg,

Instruzioni di montaggio, Monteringshandledning,
Asennusohje, Instruction de montage,
Montegehandleiding, WHcTpyKuua no yctaHoBKe)

":

®
ol

Tazné zarizeni
Citroen C4 01/2021->

Tazné zariadenie
Towbars
Trekhaak

Anhangerkupplung de
Dispositif d'attelage
Equipo de remolque

Sprzet holowniczy

Hinauslaitteet
BykcupHoe obopynoBaHue

vyrobce / dodavatel

SVC Group s.r.o.

[=] 3

Odkaz na produkt:
https://www.svcgroup.cz/tazne-zarizeni-sro
uby-pevny-skoda-rapid-monte-carlo-10-20
12-2018-p7283-v960

WWW.SVCgroup.cz



CZ - Tazné zafizeni / SK - Tainé zariadenie / GB - Towbars / PL - Haki holownicze
DE - Anhédngevorrichtungen / FR - AZelages / SPA - Ganchos / HUN — Vonohorgok
RUS/FIN/LIT - ®apkonbl / RO - Carlig de remorcare

TYP VTZ001-513 VTZ002-513 VTZ003-513

WWW.SsVEgroup.cz

TEIE| SVC GROUP. s.r.0

Prlimyslova zona 179

54701 Nchod Citroen(4/(4-¢ Z 01/2021->

(Ur

B0 Vieid RSt
@%2%/%%%/% o) 23 )

av/‘>3\

Pro podrobné montazni instrukce a podminky vyrobku si naskenujte QR kdéd
Pre podrobné montdzne pokyny a podmienky produktu si moZete skenovat QR kéd
For detailed installation instructions and product conditions, scan the QR code
Scannen Sie den QR-Code, um detaillierte Installationsanweisungen und Produktbedingungen zu erhalten
Pour des instructions d'installation détaillées et les conditions du produit, scannez le code QR
Per istruzioni di installazione dettagliate e condizioni del prodotto, eseguire la scansione del codice QR
Aby uzyskac szczegétowe instrukcje dotyczace instalacji i warunki produktu, zeskanuj kod QR
Para obtener instrucciones detalladas de instalacién y condiciones del producto, escanee el cédigo QR
, Voor gedetailleerde installatie-instructies en productvoorwaarden, scan de QR-code
SCAN ME Tarkemmat asennusohjeet ja tuotteen ehdot on tarkistettava QR-koodilla
5 A részletes telepitési utasitdsok és a termék feltételei kozott olvassa el a QR kédot
Za podrobna navodila za namestitev in pogoje izdelka skenirajte kodo QR
MNoapo6Hble MHCTPYKLMM N0 YCTaHOBKE 1 YCI0BUAM NpOAyKTa oTckaHupylite QR-Koa. SVC GROUP ©-11/19

e-mail: scv@scvgroup.cz Tel.+420 491421021 +420 491421022 mob.: +420 603360607



Citroen(4/(4-¢ 01/2021->

85 | (1400 |7,53
«B

%
D
o amee A3OR /
(o®A | VGA roniKIrp)

e
i
WE VTZ001-513

0 v12002-513
@ VTZ 003-513

M10x40 G10.9  4x
M10x35 G10.9 4x
M10x30 4x
M8x35 G10.9 4x

@10 8x
a8 4x

10 12x
a8 4x

M10x30 1x

M10x35 G10.9 2x

M8x35 G10.9 2x

55R-01-0554

Tl!r:l. u'inn B Approval Number Class[A50-X] ©
gl OO 2o g
E%, Ii % J O[i:j ’ @ Type [ | D-ValueD[ kN
B EI Jﬁa L ~ (S)eries [ 1vertid sL__Jkg
Pevnost 88 109 129
M6 97 143 16,1 @ Informace k provozu / homologaci @ Monteringsanvisningar

M8 %5 359 40
M10 84 N0 80
M12 840 1230 1440
M14 1330 19,0 2290
M16 1370 307,0 3590

@ Informécie na prevédzku/ homologaciu @ Instrucciones de montaje

@ Operating / homologation information @ Montage-instructie

@ Betriebs- / Zulassungsinformationen @ Asennusohjeet

@ Uzemeltetési/ homologaciés informéciok @ Drifts-/ homologasjonsinformasjon

@ Informations d'exploitation / homologatio @ Informacje dotyczace pracy / homologadji

[ e ¢ | — |
® % @ G Informazioni sull'operazione / omologazio @ Wuopmaums o pabote /omonorarum

SVC GROUP s.r.o. Primyslovazona- 179 www.svcgroup.cz Te'-=ij§8 jg}z‘%]g%;

: 54701 Nachod-CR  e-mail: sve@svcgroup.cz  mob.: +420 603360607
OR kodem stdhnete rozsireny montdzni ndavod/ QR kodom stiahnete rozsirené montdzny ndvod SVC GROUP ©-05/19




Citroen(4/(4-¢ 01/2021->

WA 096002\

B g EAFH00/85 D7 537N

B vs13201 55R-01-0554 '\

B avs13-2021 ﬁé 1,5->2,0 h
Lo 2->2,5h

&2 vrz001-513 [ 163

$0 vTz002-513 [ 1
@ VTZ003-513

|

5
©

|

—
oo
O

M10x40 G10.9 2x

M10x30 1x M10x40 G10.9 2x

M10x40 G10.9 4x
M10x35 G10.9 4x
g M10x30 4x M8x35 G10.9 2x M10x35 G10.9 2x
M8x35  G10.9 4x
@10 8x
a8 4x
10 12x
@8 4x
M10 4x
4x 2x
2 e

o YR ot 1021
SVC GROUP s.r.0. Primysiovazéna- 179 www.svegroup.cz  Tel:1430 43142103}
547 01 Nachod-CR e-mail: sve@svegroup.cz  mob.: +420 603360607

QR kédem si stahnete si rozsifeny montazni nadvod / With QR code you can download the extended assembly instruc@ons SVC GROUP ©-05/19



Citroen(4/(4-¢ 01/2021->

N-1

CS Montazni navod

1.0dmontujte zadni svétla, ndraznik a uvolnéte zadni ¢ast podbéh(l. Odmontujte zadni kola.

2.0dlepte zaslepy na nosnicich vozidla v mistech dchytnych bodl. Odsroubujte z vyztuhy vozidla Srouby M8 z kazdé
strany 2x dle obrazku.

3.Do nosnikill vozidla nasurite do uchytnych bodU karosarské matky. Poté nasroubujte levy a pravy bok tazného
zafizeni.(Nedotahujte) Od spodu nosniku pfichytte pfilozku tvaru L a tuto spojte s bokem tazného zafizeni.

4.Do otvorl vyztuhy namontujte pfiloze 4 Srouby M8.(Nedotahujte)Poté namontujte hlavni nosnik tazného zafizeni.
Celé tazné zafizeni vyrovnejte a dotdhnéte dle utahovacich momentd.

5.Namontujte zpét vSechny.dily odmontované v bodé ¢.1. Namontujte zpét zadni kola.

SK Montazny navod

1. Odmontujte zadné svetla, naraznik a uvolnite zadnu cast podbehov. Odmontujte zadné kolesa.

2. Odlepte zaslepte na nosnikoch vozidla v miestach uchytnych bodov. Odskrutkujte z vystuhy vozidla skrutky M8 z
kazdej strany 2x podla obrézku.

3. Do nosnikov vozidla nasurte do uchytnych bodov karosarske matky. Potom naskrutkujte lavy a pravy bok tazného
zariadenia. (Nedoahujte) Od'spodu nosnika prichytte prilozku tvare L a tuto spojte s bokom tazného zariadenia.

4. Do otvorov vystuhy namontujte prilohe 4 skrutkami M8. (Nedoahujte) Potom namontujte-hlavny nosnik tazného
zariadenia. Celé tazné zariadenie vyrovnajte a dotiahnite podla utahovacich momentov.

5. Namontujte spat vetky diely odmontované v bode ¢.1. Nainstalujte zadné kolesa.

EN Installation instructions

1.Remove rear lights, bumperand release rear part.of the wheel arches. Remove rear wheels.

2.Remove the stickers fram vehicle beams at the fastening points. Remove two M8 screws from the vehicle stiffener

on both sides as shown in the picture.

3.Insert J-nuts into vehicle beams and slide them into fastening points. Then screw on right and left sides of the tow bar.
(Tighten only lightly). Attach L-shaped bracket from below the beam and connect it with the side of the tow bar.

4.Fix fitting plates into stiffener openings by four M8 screws. (Tighten only lightly). Then install the main beam of the
tow bar. Then, align all the parts of the tow bar and tighten them to prescribed torques.

5.Reinstall all the parts removed within the step 1..Reinstall the rear wheels.

DE Montageanleitung

1.Die Hecklichter und Stof3stange ausbauen und den hinteren Teil der Radlaufe [6sen. Die Hinterrdder demontieren.
2.Blindverschlisse auf den Tragern des Fahrzeugs, auf der Stelle der Befestigungspunkte, abnehmen. Die Schrauben
M8 aus der Strebe des Fahrzeugs demontieren, 2 auf jeder Seite gemal3 der Abbildung.

3.In die Trager des Fahrzeugs;'in die Befestigungspunkte, Karosseriemuttern einstecken.

Dann die linke und rechte Seite der Zugeinrichtung anschrauben (nicht festziehen). Von der.unteren

Seite des Tragers eine L-Scheibe befestigen und diese mit der Seite der Zugeinrichtung verbinden.

4.In die Offnungen der Strebe 4 Schrauben M8 montieren (nicht festziehen). Dann den Haupttrager der
Zugeinrichtung montieren. Die gesamte Zugeinrichtung ausrichten und mit entsprechenden Drehmomenten
festziehen.

5.Alle im Punkt Nr. 1 ausgebauten Teile wieder einbauen. Die Hinterrader wieder montieren.

IT Istruzioni di montaggio

1.Smontare i fanali posteriori e il paraurti e allentare la parte posteriore dei copriruota. Smontare le ruote posteriori.
2.Allontanare le chiusure cieche dai supporti del veicolo, nel luogo dei punti di fissaggio. Svitare i bulloni M8 dal
rinforzo del veicolo, 2 su ogni lato, vedi figura.

3.Inserire i dadi per carrozzeria nei supporti del veicolo, nei punti di fissaggio. Quindi montare il fianco sinistro e
destro del dispositivo di traino (non serrare a fondo). Dal disotto del supporto fissare una piastrina a L collegandola
con'il fianco del dispositivo-di traino.

4.Montare i 4 bulloni‘tM8 nei fori del rinforzo(non serrare a fondo).«Quindi montare il supporto principale del
dispositivo di traino. Allineare tutto il dispositivo di traino e serrare con le coppie di serraggio prescritte.
5.Rimontare tutti i componenti smontati nel punto 1. Rimontare le ruote posteriori.

SVC GROUP s.r.o0. Prumyslovazéna-179 www.svcgroup.cz  Tel:+420 491421021

> X . +420 491421022
547 01 Nachod-CR e-mail: sve@svegroup.cz  mob.: +420 603360607

OR kodem stdhnete rozsireny montdzni ndvod/ QR kddom stiahnete rozsirené montdzny ndvod SVC GROUP ©-05/19




ZLEE,
A
mE=EETY

"SCAN ME

Montdzni ndvod
Montézny navod
Installation instructions
Installationsanleitung
Instructions d'installation
VHCTpyKLMA no ycTaHoBke

<~
~fern oo

SVC GROUP O

- SVC GROUP s.r.0. Primyslovazéna- 179 www.svegroup.cz  Tel-1430 48142102

g 547 01 Nachod-CR  e-mail: sve@svegroup.cz mob.: +420 603360607

QR kédem stadhnete rozsifeny montizni navod / Met QR-code kunt u de uitgebreide montage-instruc®es downloaden SVC GROUP ©-05/19
alr O Q



Dle piistupu a typu vozu }

SVC GROUP O

SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:t420 49142102]

i,
A ‘..‘:' 547 01 Nachod-CR  e-mail: sve@svegroup.cz  mob.: +420 603360607

QRS dem stahnete rozsifeny montazni ndvod / Met QR-code kunt u de uitgebreide montage-instruc®es downloaden SVC GROUP ©- (1319



Q M10x40 x4
o10x4 17
@10 x4

Q M10x20 x2
@10 x2
'S Mi10x2
SVC GROUP O

Y A 26na - Tel.:+420 491421021
o SVC GROUP s.r.o0. Prumyslovazona-179 www.svcgroup.cz ‘e ok O

Ty 547 01 Nachod-CR e-mail: sve@svegroup.cz  mob.: +420 603360607

QR i(édem stahnete rozsifeny mont4zni ndvod / Met QR-code kunt u de uitgebreide montage-instruc®es downloaden SVC GROUP ©- 05/19



% M10x35 x4
@10x6
M10 x2
Q M 8x35 x4
@ 8 x4
@8 x4

M8x35 G10.9 2x

M10x35 G10.9

SVC GROUP s.r.o. Pramyslovazéna-179 www.svcgroup.cz
547 01 Nachod-CR

+420 491421022

Tel.:+420 491421021
. e-mail: sve@svcgroup.cz mob.: +420 603360607
QR kédem si stahnete si rozsifeny montazni navod / With QR cade you can download the extended assembly instruc@ons

SVC GROUP @- 05/19



e

g] M10=54 / M8 =27,3
B 2% Nm

%

130
i § o)

( ZImenseny vyfez|pro tainé

Veliky predznaceny vyiez
od vyrobce vozu ve viditelné casti
zadniho nérazniku

zafizeni od SVC GROUP neni na voze vi

N>

275

. +420 491421022
e-mail: sve@svcgroup.cz mob.: +420 603360607

, SVC GROUP s.r.0. Primyslovazéna-179 www.svcgroup.cz  Tel:1420 491421021
e N - 5 4
= 547 01 Nachod-CR
QR kédem si stahnete si rozsifeny montazni navod / With QR code you can download the extended assembly instruc@ons

SVC GROUP ©- 05/19



Informace pro odpojovéni couvacichsenzorti PDC pro tazné zafizeni
Vypinac pro vypinani couvacich'senzoru PCD je umistnény na palubni desce vozu.

Nemusite tedy pracné na elektro instalaci vozu napojovat odpojovani couvacich senzori PDC a zpétnych kamer od elektro piipojky taznych zafizeni.
Pokud chcete senzory vypnout, pouZijte vypinac na palubni desce.

1"

SVCGROUP

Dékuje za diivéru / Dakuje za déveru
Thank you for your trust / Danke Fiir dein Vertrauen
Merci pour votre conance / Grazie per la tua ducia

Registrace / Registracia
Registration / Registrierung

Inscription /Registrazione
Tankewol foar jo fertrouwen / Cnacu6o 3a Baluge fosepue Rekisterdinti / Pernctpauna

SVC GROUP ©- 15/2020

SVC GROUP s.r.o0. Primyslovazona-179 www.svcgroup.cz Te'-ﬁﬁg jg}j%}g%;

547 01 Nachod-CR e-mail: sve@svegroup.cz mob.: +420 603360607
QR kédem stahnete rozsifeny montizni navod / QR kédom s@ahnete roziirené montazny navod SVC GROUP ©- 05/19



@ Informace k provozu / homologaci

Vyrobek je vyrabény dle platnych norem EHK-55 R pro prodej ve statech EU.-Informace pro pouZit, provoz azaruky pro tazné zafizeni naleznete na naSem webu, www.svegroup:cz
Technické informace > Tazné zarizeni>Vseobecné podminky pouZiti vyrobku. Nebo si je stahnéte aplikace pres piilozeny QR-cod

Soucasti dodavky tazného zafizeni je dodan TYPOVY LIST. Tento typovy list slouzi pro zapsani vyrobku do technického priikazu vozidla, a obsahuje zakladni podminky pro pouZiti vyrobku.
Typovy list slouZi i jako zarucni lis proto jej uschovejte v dokumentaci vozidla.

@ Informacie na prevadzku / homologaciu

Viyrobok je vyrabany podla platnyichnoriem EHK-55 R pre predajv $tatoch EU. Informacie pre pouZitie, prevédzku a zéruky pre tainé zariadenie najdete na nasom webe, www.svcgroup.cz
Technické informdcie> Tazné zariadenie> Vseobecné podmienky pouZitia vyrobku. Alebo si ich stiahnite aplikacie cez prilozeny QR-cod

Sticastou dodavky tazného zariadenia je dodany TYPOVY LIST. Tento typovy list slii pre zapisanie vjrobku do technického preukazu vozidla, a obsahuje zakladné podmienky poufitia vyrobku,
Typovy list sluzZi aj ako zdrucny lis preto ho uschovajte v dokumentdcii vozidla.

@ Onerating / homologation information

The product is manufactured according to the applicable EHK-55 R standards for sale in EU countries. Information on the use, operation and warranties for the towbar can be found

on our website, www.svcgroup.com

Technical information> Towing hitch> General conditions of use. Or download them via QR-cod

The towing device is supplied with a TYPE SHEET. This data sheet is used to enter the product in the vehicle registration document and contains the basic conditions for use of the product.
The data sheet also serves as a warranty press, so keep it in the vehicle documentation.

@ Betriebs /Zulassungsinformationen

Das Produkt wird gemdR den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewahrleistung der
Anhéngerkupplung finden Sie auf unserer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungshedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhéngevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthélt die Grundbedingungen
fiir die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse. Bewahren Sie es daher in der Fahrzeugdokumentation auf.

@ Uzemeltetési / homologécios informacick

Das Produkt wird gemdR den geltenden EHK-55 R-Standards fiir den Verkauf in EU-Landern hergestellt. Informationen zu Verwendung, Betrieb und Gewdhrleistung der
Anhéngerkupplung finden Sie auf unserer Website www.svcgroup.com

Technische Informationen> Anhéngerkupplung> Allgemeine Nutzungshedingungen. Oder laden Sie sie per QR-Code herunter

Die Anhdngevorrichtung wird mit einem TYPENBLATT geliefert. Dieses Datenblatt dient zur Eintragung des Produkts in das Kfz-Kennzeichen und enthélt die Grundbedingungen fiir
die Verwendung des Produkts. Das Datenblatt dient auch als Garantiepresse. Bewahren Sie es daher in.der Fahrzeugdokumentation auf.

@ Informations d'exploitation / homologation

Le produit est fabriqué conformément aux normes EHK-55 R applicables pour la vente dans les pays de I'UE. Des informations sur I'utilisation, le fonctionnement et les garanties de
I'attelage sont disponibles sur notre site Web, www.svcgroup.com.

Informations techniques> Attelage de remorquage> Conditions générales d'utilisation. Ou téléchargez-les via QR-cod

Le dispositif de remorquage est fourni avecune feuille de type. Cette fiche technique est utilisée pour entrerle-produit dans le certificat d'immatriculation du véhicule et contient les
conditions de base pour |'utilisation'du produit. La fiche technique sert également de presse de garantie, conservez-la dans la documentation du véhicule.

a Informazioni sull'operazione / omologazione

I prodotto & fabbricato secondo le norme EHK-55 R applicabili in vendita nei paesi dell'UE. Informazioni sull'uso, il funzionamento e le garanzie per il gancio di traino sono disponibili
sul nostro sito.Web www.svcgroup.com

Informazioni tecniche> Gancio di traino>:Condizioni generali d'uso. Oppure scaricali tramite QR-cod

IIdispositivo di rimorchio viene fornito con una SCHEDA TIPO. Questa scheda tecnica viene utilizzata perinserire il prodotto nel certificato di immatricolazione del veicolo e contiene
le condizioni di base per I'uso del prodotto. La scheda tecnica funge anche da pressa di garanzia, quindi conservala nella documentazione del veicolo.

o At Tel.:+420 491421021
SVC GROUP s.r.0. Primysiovazéna- 119 www.svegroup.cz  Tel:+420 49142102]
547 01 Nachod-CR ~ e-mail: sve@svegroup.cz  mob.: +420 603360607

QR kédem stahnete rozsifeny montazni navod / QR-kéddal letdlihe©a kibéviteZ dsszeszerelési utasitdsokat SVC GROUP ©-05/19




@ IMonteringsanvisningar

Het product is vervaardigd volgens de toepasselijke EHK-55 R-normen voor verkoop in EU-landen. Informatie over het gebruik, de werking en de garanties voor de trekhaak vindt u op
onze website, www.svcgroup.com Technische informatie> Trekhaak> Algemene gebruiksvoorwaarden. Of download ze via QR-cod

Het sleepapparaat wordt geleverd met een TYPE BLAD. Dit gegevensblad wordt gebruikt om het product in het voertuigregistratiedocument in te voeren en bevat de basisvoorwaarden
voor het gebruik van het product. Het gegevensblad dient ook als garantiepers, dus bewaar het in de voertuigdocumentatie.

@ instrucciones de montaje

El producto se fabrica de acuerdo con los estandares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacién sobre el uso, el funcionamiento y las garantias
de la barra de remolque en nuestro sitio web, www.svcgroup.com Informacidn técnica> Enganche de remolque> Condiciones generales de uso. 0 descarguelos a través de QR-cod

El dispositivo de remolque se suministra con una HOJA DE TIPO. Esta hoja de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene

las condiciones basicas para el uso del producto. La hoja de datos también sirve como una prensa de garantia, por lo tanto, consérvela en la documentacion del vehiculo.

@ Montage-instructie

Tuote on valmistettu EU-maissa myytévien EHK-55 R -standardien mukaisesti. Tietoja vetokoukun kaytostd, kdytosta ja takuista loytyy verkkosivuiltamme www.svcgroup.com
Tekniset tiedot> VVetokoukku> Yleiset kéyttdolosuhteet. Tai lataa ne QR-koodin kautta

Hinauslaite toimitetaan TYYPPI-ARKKI. Tata lomaketta kdytetdan tuotteen sydttamiseen ajoneuvon rekisterdintitodistukseen, ja se sisaltéd tuotteen kdyton perusedellytykset.
Tietolomake toimii myds takuupuristimena, joten sdilytd se ajoneuvon dokumenteissa.

Izdelek je izdelan po veljavnih standardih EHK-55 R za prodajo v drzavah EU. Informacije o uporabi, delovanju in garancijah za vlecno plo3co najdete na naSem spletnem mestu www.svcgroup.com
Tehnicni podatki> Vlecna kljuka> Splosni pogoji uporabe. Ali pa jih prenesite preko QR-kod

Vlecna naprava je opremljena s TIPNIM LISTOM. Ta podatkovni list se uporablja za vnos izdelka v registracijski dokument vozila in vsebuje osnovne pogoje za uporabo izdelka.

Podatkovni list sluzi tudi kot garancijski tisk, zato ga hranite v dokumentaiji vozila.

@ Drifts- / homologasjonsinformasjon

Produktet er produsert i henhold til gjeldende EHK-55 R standarder for salg i EU-land. Informasjon om bruk, drift og garantier for tilhengerfeste finner du pa var hjemmeside,
WWw.svcgroup.com

Teknisk informasjon> Tilhengerfeste>> Generelle bruksbetingelser. Eller last dem ned via QR-koding

Taueanordningen leveres med TYPEBLAD. Dette databladet brukes til @ oppgi produktet i kjeretayets registreringsbevis-og inneholder de grunnleggende betingelsene for bruk av produktet.
Databladet fungerer ogsd som garantipresse, sa hold det i bilens dokumentasjon.

@ Informacje dotyczace pracy / homologadji

Produkt jest wytwarzany zgodnie z obowigzujacymi normami EHK-55 R na sprzedaz w krajach UE. Informacje na temat uzytkowania, obstugi i gwarancji na hak holowniczy mozna
znalez¢ na naszej stronie internetowej www.svegroup.com Informacje techniczne> Zaczep holowniczy> Ogdine warunki uzytkowania. Lub pobierz je za pomocg kodu QR
Urzadzenie holownicze jest dostarczane z ARKUSZEM TYPU. Ta karta danych stuzy.do wpisania produktu do dokumentu rejestracyjnego pojazdu i zawiera podstawowe warunki
uzytkowania produktu. Karta danych stuzy réwniez jako prasa gwarancyjna; dlatego przechowu;j ja w dokumentacji pojazdu.

UHpopmauua o pabote /omonoraumu

I

El producto se fabrica de acuerdo con los estdndares EHK-55 R aplicables para la venta en paises de la UE. Puede encontrar informacidn sobre el uso, el funcionamiento y las garantias
de |a barra de remolque en nuestro sitio web, www.svcgroup.com

Informacién técnica> Enganche de remolque> Condiciones generales de uso. 0'descarguelos a través de QR-cod

El dispositivo de remolque se suministracon una HOJA DE TIPO. Esta hoja-de datos se utiliza para ingresar el producto en el documento de registro del vehiculo y contiene las
condiciones bdsicas para el uso del producto. La hoja de datos también sirve como una prensa de garantia, por lo tanto, consérvela en la documentacion del vehiculo.

SVC GROUP s.r.o0. Primyslovazéna-179 www.svcgroup.cz Te'-=j;j§8 18}2318%;

547 01 Nachod-CR ~ e-mail: sve@svegroup.cz  nob,. +420 603360607

QR kédem stahnete rozsifeny montazni navod / Con il codice OR & possibile scaricare le istruzioni di assemblaggio estese SVC GROUP ©- 05/19




! a @Citroen 4/4-e 01/2021->

ES Manual de montaje de

1.Desmonte los focos traseros y parachoques y afloje la parte trasera de guardarruedas. Desmonte las ruedas traseras.
2.Despegue las bridas-ciegas de los soportes-del vehiculo en los puntos de sujecion. Desenrosque del refuerzo delv
ehiculo los tornillos M8, 2 de cada lado, segun la figura.

3.Inserte tuercas de carroceria en los puntos de fijacion del soporte del vehiculo. Después enrosque el lado izquierdo
y derecho del equipo de tiro. (Sin apretar) Por la parte inferior del soporte sujete el escuadro en forma de Ly una el
mismo con el lado del equipo de tiro.

4.En los orificios del refuerzo monte las garras de sujecién por 4 tornillos M8 (Sin apretar) Después monte el soporte
principal del equipo de tiro. Enderece todo el equipo y apriete segiin los pares de apriete.

5.Monte de vuelta todas las piezas desmontadas segun el punto No. 1. Monte de vueltalas ruedas traseras.

FR Notice d'assemblage

1.Déposer les phares arriere, le pare-chocs et dégager l'arriere des passages de roues. Déposer les roues arriére.

2.Au niveau des points de fixation, décoller les brides d'obturation situés sur les longerons du véhicule. Sur le renfort
du véhicule, dévisser les vis. M8 de chaque coté 2x.selon la figure.

3.Dans les longerons duvéhicule, monter les écrous de carrosserie dans les points de fixation:Visser ensuite le flanc
gauche et droit au dispositif d'attelage. (Ne'pas serrer) En bas dudongeron, fixer la joue‘en L et connecter la auflanc
du dispositif d'attelage.

4.Dans les trous du renfort, monter 4 vis M8. (Ne pas serrer) Monter ensuite le longeron principal du dispositif
d'attelage. Egaliser I'ensemble du dispositif d'attelage et serrer aux couples préconisés.

5.Reposer toutes les pieces déposées au point n°1. Reposer les roues arriere.

RUS NHCTPYKL A MO MOHTaXKy

1.CHumuTe 3agHue doHapu, 6amnep 1 ocBoboAMTe 3aIHIOK YacTb NOAKPbINKOB. CHUMKTE 3aHKe Koreca.

2.CHMMKTE 3arNyLLKKM C TOYEK KpennieHna Ha 6ankax aBTomobuna. CBUHTUTe ¢ ycunuTens no 2 6onta M8 c kaxkgom
CTOPOHbI COFNMACHO N306PaXKeHNIo.

3.BcTaBbTe B TOUKU KpenneHus Ha 6ankax aBToMoOuA Ky30BHble raiku. [locne 3Toro HaBMHTWTE JIEBbLIN W MPaBbIi

60Ka ¢dapkona (He 3atarveanTe). CH13Y 6anky 3aKpenuTe HakIagKy B opme 6yksbl L v coeguHuTe ee ¢ 6okom dpapkona.
4.B-0TBEpCTUA yCUNUTENA-YCTaHOBUTE Mpunaraemble 4 6onta M8 (He 3atarmsarite). [locne 3TOro ycTaHOBUTE rNaBHYo
6anKky papkona. BoipoBHsliTe papKon 1 3aTAHNTE B COOTBETCTBUI'C NMPeAniCAHHBbIMU MOMEHTaMU 3aTSXKKU.
5.YctaHoBMTE 06paTHO BCe YaCTu, IEMOHTUPOBaHHbIe cornacHo M. 1. YctaHoBMTe 06paTHO 3afHuMe Koneca.

Fl Asennusohje

1.Irrota takavalot ja puskuri ja vapauta pyorakoteloiden takaosat. Irrota takapyorat.

2drrota tulpat auton palkeista kiinnityspisteiden-kohdalta. Irrota auton'jaykisteesta M8-ruuvit-2x molemmilta puolilta
kuvan mukaan.

3.Tyénnéa auton palkkien kiinnityspisteisiin korimutterit. Kiinnit4 sitten vetolaitteen vasen ja oikea sivuosa. (Al kirista.)
Kiinnita palkin alapuolelta L-muodon liitososa ja liita se vetolaitteen sivuosaan.

4 Asenna jaykisteen reikiin liitososa 4 ruuvilla M8. (Al kirista.) Asenna sitten vetolaitteen padpalkki. Suorista koko
vetolaite ja kirista kiristysmomenttien mukaisesti.

5.Asenna takaisin kaikki kohdassa 1. irrotetut osat:Asenna takapyorat takaisin.

PL Instrukcja montazu w samochodach
1.Demontujemy tylne lampy, zderzak i poluzowujemy tylna czes¢ nadkoli. Demontujemy tylne kota.
2.W punktach mocowania na belkach usuwamy przyklejone tam zaslepki. Z kazdej strony pojazdu odkrecamy ze
wzmochnienia nadwozia po 2 sruby M8 zgodnie z rysunkiem.
3.Do belek nadwozia w punktach mocowania wsuwamy blacharskie nakretki klatkowe. Nastepnie przykrecamy
luzno lewy i prawy bok haka holowniczego. Od spodu belki przymocowujemy naktadke o ksztatcie litery L itgczymy
ja z bokiem haka holowniczego.
4.Do otwordéw we wzmocnieniu wkrecamy luzno 4 sruby M8 z kompletu. Potem montujemy gtéwng belke haka
holowniczego. Ustawiamy réwno wszystkie czesci haka holowniczego i dokrecamy sruby z zachowaniem ich
wiasciwych momentéw dokrecania.

o e e e T L 2 e e e e s e e S e N |

SVC GROUP s.r.0. Primyslovazona-179 www.svcgroup.cz Te'-=j;j%8 jg}jg}gg‘z

T . X :
1-‘:,-' 547 01 Nachod-CR e-mail: sve@svcgroup.cz ob.: +420 603360607
OR kddem stdhnete rozsifeny montdZni ndvod /Verwenden Sie den QR-Code, um die erweiterte Montageanleitung herunterzuladen SVC GROUP ©- 05/19




Homologace - registraéni certifikat
Exx -55R-01 x.01

@ e PODMINKY HOMOLOGACE

Montazni instrukce - Montazny intrukcia - Installation insrtuktion - Montageanleitung - Istruzioni di montaggio - Instrukcja montazu - Manual de montaje Monteringsvejledning - Paigaldusjuhe nd -
Asennusohje - Notice de montage - Sz. szerelési itmuutaté - Montagehandleiding - Monteringsanvisning - Insructioni de montaj -Teringsanvisningar - UHCTpyKLUM N0 MOHTaXy

Volny prostor dle pfilohy VII, smérice¢: EC 55-R EU musi byt dodrZen. Classe A50-X
Volny priestor podfa prilohy VII, smérice¢. EC 55-R EJ musi byt dodrzany. @

The clerarance specied in appendix VI, diagram 25 ofguideline EC r-55 EU must be guaranteed.

E-1

Der Freiraum nach Anhang VII, Abbildung 25 der Richtlinie EC R-55 EU ist zu gewahrleisten.
Az EC55-REU irdnyelv VII. mellékletében, a 25. dbrdn a vondgomb elhelyezése szamara elirt szabad tér-adatokat bizitositani ke

La zone de dégagement doitément aannexe VII, illustration 25 de la directive EC 55-R EU.

Voing prostor
dle EUR-55.01

N\

Volny prostor
dle EUR5.01

Deve essere garantito lo spazio libero secondo fallegato VII, gura 25 della direttiva EC 55-R EU.

De tussenruimte conform supplement V1, afbeelding 25 van de richtlijn EC55-R moet in acht worden genomen. Al

Debe garantizarse el espacio libre, conforme al anexo VI, gura 25 de la directiva comunitaria EC 55-R EU.

min 55mm 140mml

ﬁsm
\
\

AT T T T O

/45°min

v Vv

Vapaa tila on taattava direktiivin EC 55-R EU liitteen VII, kuvan 25 mukaisesti.

75 min

,
{

Spelrummet enligt bilaga VI, Figur 25 i riktlinje EC 55-R EU skall garanteras.

75 min

B

350—420

Friromment etter tillegg VII, gur 25 i direktiv EC 55-R EU skal overholdes.

Nalezy zapewnic szczelnos¢ zgodnie z rysunkiem.nr 25 dyrektywy EC 55-R zawartej w zatacznikunr VII.

0000600000606060

Liapuka B npunoxeuu VII. lupekTusbiEC 55-R eu.

VOZOVKA

@ Pfi celkové pifipustné hmotnosti vozidla @ Pri celkovej piipustnej hmotnosti vozidla @ At laden weight ofthe vehicle
@ Bei zulassigem Gesamtgewicht des Fahrzeuges @ Rakoménnyal terhelt jarmstly eseltén @ Pour poids total en charge autorisé du véhicule

0 Perun peso complessivo ammesso del veicolo @ Bij toelaathaar totaal gewichtvan het voertuig @ Con peso total autorizado del vehiculo @ Ajoneuvon suurimmalla sallitulla kokonaispainola
@ Vid fordonets tillltna totlvikt @ Ved kjoretoyets tillatte totalvekt @ W przypadku najwikszej dozwolonej masy cakowitej @ B cnyyae HarpyeHHoro aBTomobunsa

@ >0

Pokud jsou v technickém prikazu vozidla uvedené nizsi hodnoty nez zvefejnéné k dokumentaci vyrobku . Jsou tyto hodnoty vjrobce vozu smérodatné pro zapséni do technického prikazu vozidla.

Pokial'sti v technickom preukaze vozidla uvedenej nizsie hodnoty nez zverejnené k dokumentécii vyrobku. St tieto hodnoty vyrobcu vozidla smerodajné pre zapisanie do technického preukazu vozidla.

If tl:ie veh;]de s certicate of roadworthiness indicates lower values than those published in the product documentation. These values by the vehicle manufacturer are decisive for the entering into the vehicle's certificate of
roadworthiness.

Falls im KFZ-Brief des Fahrzeugs niedrigere, als in der Dokumentation des Produkts verd -entlichte Werte angefiihrt sind, sind diese Werte des Fahrzeugherstellers fiir den Eintrag in den KFZ-Brief des Fahrzeugs maBgebend.

Amennyiben a forgalmi engedélybe jegyzett adatok a gépjarmi dokumentdciban feltiintetetett adatoktdl alacsonyabb értékiiek lennének, tigy a gépjarmii gyartdja dltal megadott és a forgalmi engedélybe pontosan bejegyzendd
adatokat kell irdnyaddként mindsfteni.
Si, sur la carte grise du véhicule, vous trouvez des valeurs inférieures a celles publiées dans la documentation du produit, les valeurs du fabricant du véhicule sont déterminantes et devront étre inscrites sur la carte grise du véhicule.

Se nella carta di circolazione del veicolo'sono riportati valori inferiori a quelli indicatinella documentazione del prodotto. Questivalori del produttore del veicolo sono decisivi per la registrazione nella carta di circolazione del veicolo.
ALSe |rn het kentekenbewijs van het voertuig lagere waarden vermeld staan dan gepubliceerd in de productdocumentatie, dan zijn deze waarden van de fabrikant van het voertuig bindend voor inschrijving in het kentekenbewijs van het
‘gl en lIlalgcha técnica del vehiculo se indican valores menores que los publicados en la documentacidn del producto, estos valores facilitados por el fabricante del vehiculo son decisivos para la inscripcién en la ficha técnica del vehiculo.
Jos ajoneuvon rekisteriotteessa on esitetty alempia arvoja kuin tuotteen dokumentaatiossa esitetyt, ovat namé ajoneuvon valmistajan antamat arvot ratkaisevia ajoneuvon rekisteriotteeseen merkitsemistd varten.

0Om det i fordonets registreringsbevis nns angivna lagre varden &n de som ar angivna i produktens dokumentation, ar dessa vérden fran fordonets tillverkare riktgivande for det som antecknas i fordonets registreringsbevis.

Dersom det i kjoretayets vognkort er oppgitt lavere verdier enn de som er o entliggjort som produktdokumentasjon, er disse angivelsene fra kjgretaysprodusenten retningsgivende for 8 noteres ned i kjoretayets vognkort.

Jezeli w dowodzie rejestracyjnym pojazdu sa podane wartosci nizsze od tych, ktdre znajduja sie w dokumentacji wyrobu, to te dane producenta samochodu s miarodajne do wpisania ich do dowodu rejestracyjnego pojazdu.

6006006000060060600

Ecnn B nacniopre TpaHCOPTHOTO CPEACTBA yKa3aHbl Gonee HU3KME 3HAUEHIA, YEM YKa3aHHBIE B AOKYMEHTALN HA U3FEAe, 3T 3HaYeHWA NPOU3BofTeNs ABRAIOTCA OMPeAenAloLLIMIA ANA 3aMACH B TACOPT TPAHCTIOPTHOTO
CpefCTBa.

SVC GROUP s.r.o. Primyslovazéna-179 www.svcgroup.cz  Tel 'Ijgg ﬁg}jg}g%;

547 01 Nachod-CR  e-mail: sve@svcgroup.cz ob.: +420 603360607
QR kédem stahnete rozsifeny montazni navod / Com o cédigo QR, vocé pode baixar as instrucdes de montagem estendidas SVC GROUP ©- 05/19




@ Pozorinformace kzaruce @ Vegye gyelembe a jotallasi informaciokat Atencion
@ Pozorinformécie k zéruke @ Notezles informations de garantie Huomio
@ Note the warranty information @ Notale informazioni sulla garanzia Uwaga

@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie BHumanue

i
U

Vysokov 179
547 01 Ndéchod, Cv:eskég Republikq +420 603 360 607 +420 491421021

WWW.SVCGroup.cz ,
SVC GROUP@:08:2019 Service Vitver Centram



Atencion

@ Pozor informace k zaruce @ Vegye gyelembe a jotallasi informaciokat @
@ Pozor informacie k zéruke @ Notez les informations de garantie @ Huomio
@ Note the warranty information Q Nota le informazioni sulla garanzia @
@ Beachten Sie die Garantieinformationen @ Let op de garantie-informatie @

Uwaga
Buumanue

} @lﬁ@'/

A

=
% km %J 0 km

\.

Vysokov 179
547 01 Ndéchod, éeskd Republikq +420 603 360 607 +420 491421021

WWW.SVCGroup.cz !
SVC.GROUP©-08-2019 Service Vitver Centrum




Nevite si rady? Potfebujete poradit?

Nas zakaznicky servis
je vam k dispozici

%, +420491 421021

g Svc@svcgroup.cz

Opravdovy specialista a Certifikovany vyrobce taznych zafizeni
s nejvétsim sortimentem v CR. Rodinna firma s vice jak 30letou
ovérenou tradici vyroby, prodeje a montaze.

WWW.SVCgroup.cz



